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EARBERBIRA 3,644,000 1,358,000 5,002,000
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EXETBIRAG 5,644,000 82,082,000 8,376,000 6,886,000 102,988,000
(BXEPZH)

(EE3-F530) 6,080,000 20,538,000 8,207,000 7,955,000 42,780,000
REBEEREFEZH 1,614,000 1,614,000
AEXEEXH 260,000 260,000
FEREXZH 300,000 300,000
ERREZEXH 20,538,000 20,538,000
EREZEIH(EES) 0
BREZEXTH (EEHKED) 0
EFEHMEZH 6,000,000 6,000,000
EFEFEIH 1,150,000 1,150,000
HBHFLXH 2,946,000 4,858,000 399,000 8,203,000
EHEEEXH 491,000 782,000 63,000 1,336,000
MEXEEXH 34,000 172,000 43,000 249,000
SEEBEXWL 42,000 5,000 25,000 72,000
HEMEXH 78,000 180,000 116,000 374,000
FRIEAE X H 89,000 453,000 49,000 591,000
BIEEREXH 93,000 628,000 74,000 795,000
FHHZH 51,000 127,000 27,000 205,000
SEKHE X H 24,000 29,000 5,000 58,000
FHREXZH 720,000 720,000
EEHXRE 58,000 253,000 4,000 315,000

[BEERH] 363,000 1,037,000 1,400,000
HBHFLXH 94,000 13,000 107,000
EHEEEXH 16,000 2,000 18,000
REXBEEXH 6,000 7,000 13,000
SEEBEXWL 58,000 35,000 93,000
HEMEXH 2,000 4,000 6,000
FRIEAE X H 1,000 1,000 2,000
BIEEREXH 2,000 1,000 3,000
FHRZH 2,000 793,000 795,000
SEKHE X H 1,000 1,000 2,000
FHREXE 179,000 179,000 358,000
SRS 2,000 1,000 3,000
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